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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence, Then mark your answer sheet.

1- Before you ---=-veue- to the next question, you should take some time to make sure
yvou're happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute — -3 the Kids spilled food all over the
kitchen and they wouldn’t listen to anything | had to say.

1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the --——-——— way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used --—---—--—-- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a --—-—-- -- matter.
1) contradictory  2) consistent 3) colloquial 4) trivial

6- The police wondered about the man’s «—-eeeeee- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to -----eenn-
foreibly.
1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm --—--e-e- ' said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4) deprivation

9- You’ll have a better chance of finding that unusual word if you look it up in a/an
—————— dictionary.
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to --—-—-——-- their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers. are pesticides used to Kill unwanted plants.
Selective herbicides kill specific targets, (11) ===mmeemm- the desired crop relatively unharmed.
Some of these act by interfering with (12) ————-- and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground, industrial sites, railways and railway
embankments are not selective (13) ==s=mmeu all plant material with which they come into
contact, Smaller quantities are used in forestry. pasture systems, and management of areas
(14) =memeeae as wildlife habitat,

Some plants produce natural herbicides, (15) =me=aeeae- the genus Juglans (walnuts), or the
tree of heaven: such action of natural herbicides, and other related chemical interactions. is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed

3) the weed in growing 4) the growing of weed
13- 1) and kill 2) killer of 3) to kill 4) which kill
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14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

Part C: Reading Comprehension
Directions: Read the following three passages and choose the best choice (1), (2), (3), or (4)

that best answers each question. Then mark it on your answer sheet.

Passage 1

Many carpets. notably those of village or nomadic origin with traditional designs. are woven
without a particular pattern guide. The weaver may also work from a cartoon (nagsa). in which
the design is executed on a paper grid, each square (kdna) representing one knot. Alternatively.
a knotted “sampler” (vagira), in which a section or sections of the field and border are
depicted. may be used as a model.

Although preliminary trimming (¢idan) of the pile occurs during the weaving process, the
final clipping (pardakr) is undertaken by an experienced finisher (pardaki¢i). Both offset
scissors (geyén) and a sharp trimming knife (kardak) are used to reduce the pile. After the
completed carpet is removed from the loom it is washed. In addition to detergent. a variety of
chemicals may be added to the bath in order to alter the rug’s colors according 1o market
demands.

16- What is paragraph 1 primarily concerned with?

1) The way local carpets are woven

2) The effect of carpet weavers' imagination on their final product

3) The types of patterns that are used by carpet weavers in the design of their product

4) The reasons why the traditional designs based on village or nomadic origins gave way to
other design devices

17- Which of the following is closest in meaning to the word "depicted" in paragraph 17

1) distinguished 2) highlighted 3) mntersected 4) portrayved

18- According to the passage, initial trimming takes place —-—-—--—-- .

1) some time prior to the final clipping

2) when the weaving process actually ends

3) at the presence of an experience finisher

4) after the pile has been reduced to the minimum desirable amount

19- Which of the following is stated in the passage about the rug’s colors?

1) They are decided upon mere aesthetic criteria.

2) They are influenced by preferences of the potential customers.

3) They lose their natural beauty when the carpets undergo the washing process.

4) They are commonly altered by the use of other detergents or a variety of chemicals.

20- There is sufficient information in the passage to answer which of the following

questions?

1) How is a finished carpet taken off the loom on which it has been woven?

2) What do weavers employ in order to reduce the pile they have produced?

3) Under what circumstances is detergent preferred to chemicals?

4) Why does an experienced finisher have to do the final clipping?
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Passage 2

The exceptional Pazyryk carpet was discovered in 1949 in an archaeological excavation in
1949 in the Pazyryk Valley, in the Altai Mountains in Siberia. The carpet was found in the
grave of a Scythian prince. Radiocarbon testing indicated that the Pazyryk carpet was woven in
the 5th century BC. This carpet is 283 by 200 cm (approximately 9.3 by 6.5 It) and has 36
symmetrical knots per em? (232 per inch?®). The advanced technique used in the Pazyryk carpet
indicates a long history of evolution and experience in weaving. It is considered the oldest
known carpet in the world. Its central field is a deep red color and it has two wide borders, one
showing deer and the other horsemen.

The Pazvryk carpet was thought. by its discoverer Sergei Rudenko. to be a product of
the Achaemenids. Currently. whether it is a nomadic product with Achaemenid influence, or a
product of the Achaemenids remains the subject of debate.

21- According to the passage, the Pazyryk carpet ---------- -

1) was purposefully hidden in a grave due to its high value

2) has only recently been appreciated as the symbol of the art of carpet-weaving

3) was produced at a time before there were any believers of the faith of Christianity

4) lost some of its physical features. including the actual size, appearance, etc in the course of
time

22- The passage states that the Pazyryk carpet attests to the fact that —--—----- ’

1) it owes its discovery to radiocarbon testing

2) carpet weaving goes back to a time before the 5th century BC

3) carpet weaving virtually emerged in the Altai Mountains in Siberia

4) it heralded the beginning of the use of advanced techniques in carpet weaving

23- What does the word "one" in paragraph 1 refer to?

1) Field 2) Carpet 3) Weaving 4) Border

24- The passage states that whether the Pazyryk carpet is a carpet with Achaemenid
influence is -----—--— -—-.

1) vet to be determined 2) somewhere in Siberia

3) subject to no controversy 4) incontrovertible

25- Which of the following best reveals the author's attitude towards the Pazyryk carpet?

1) Disparaging 2) Indifferent 3) Hypereritical 4) Adulatory

Passage 3

The difference between Anatolian (Turkish) and Persian carpets is today largely one of
tradition. |

Typically. a traditional Persian carpet is tied with a single looping knot (Persian or Senneh
Knot), while the traditional Anatolian carpet is tied with a double looping knot (Turkish or
Ghiordes Knot). This means that for every 'vertical strand' of thread in a carpet. an Anatolian
carpet has two loops as opposed to the one loop for the various Persian carpets that use a
Persian 'single' knot. Ultimately, this process of 'double knotting' in traditional Anatolian
carpets results in a slightly more block like image compared 1o the traditional 'single knotted'
Persian carpet. The traditional Anatolian style also reduces the number of knots per sq cm.

Today. it is common to see carpets woven in both Turkey and Iran using either of the two
knot styles. When comparing carpets the only way to definitively identify the knot used is to
splay open the pile by bending the rug against itself and looking at the base of the knot.

M;M gL M)‘ wu)u u’ﬂ,T QY‘,N 45” é’”'é



o ol (il )5 590 3T (vnadis Colw 0 g Sund pumno

26- What is the subject of the passage?

1) The Anatolian and Persian carpets

2) The actual homeland of carpet weaving

3) The reasons behind the variety in carpet quality

4) The differences between carpets in different countries

27- What does the word "one" in paragraph 1 refer to?

1) carpet in general 2) Anatolian and Persian carpet

3) tradition 4) Difference

28- Which of the following rhetorical techniques is basically utilized to organize the
information in paragraph 27

1) Time order 2) Steps in a process 3) Contrast 4) Analogy

29- Which of the following is NOT true about traditional Persian carpets, according to
the passage?

1) They use either of the two knot styles described in the passage.

2) There is one loop as opposed to two loops in Turkish carpets.

3) They can be characterized as single knotted.

4) They are marked with a single looping knot,

30- According to the passage, the ultimate purpose of bending the rug against itself is to

1) examine the quality of the carpet at the base of the knot

2) detect the country where the carpet has been woven

3) find out the type of the knot used

4) splay open the pile
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